
Bartolomeo Stellato — Fall 2020

ORF522 – Linear and Nonlinear Optimization
14. Gradient descent



Ed forum

• For unconstrained: have seperate necessary conditions and sufficient 
condition; do we have a compacted necessary and sufficient condition?


• Could you explain again how to make KKT conditions sufficient?


• Why does the normal cone condition involve the whole set?
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Recap



KKT necessary conditions for optimality
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Strong duality theorem
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Strong duality theorem
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Slater’s condition

Theorem
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• For nonconvex optimization, we need harder conditions


• Generalizes LP conditions [Lecture 7]

Remarks



KKT for convex problems

6

<latexit sha1_base64="RcE4q3LgXNQDgsbLkZ1hz1ECzjQ="></latexit>

x
?
, y

?
, v

?

Always sufficient

<latexit sha1_base64="FBqUY4sHIxhL0fw7x49mmaKneSk="></latexit>

f(x⋆) = f(x⋆) +

m∑

i=1

y⋆i gi(x
⋆) +

p∑

i=1

v⋆i hi(x
⋆) = L(x⋆, y⋆v⋆) (compl slackness)

<latexit sha1_base64="2qD189hlnBmINVfnalQYCyhsjno="></latexit>

∇f(x⋆) +

m∑

i=1

y⋆i ∇gi(x
⋆) +

p∑

i=1

v⋆i ∇hi(x
⋆) = 0 ⇒ g(y⋆, v⋆) = L(x⋆, y⋆, v⋆) (convexity)

<latexit sha1_base64="G+GTlNMKB8DwJsl2E4qcwO3EBgg="></latexit>

f(x?) = g(y?, v?) x?, y?, v?

wow=D



KKT for convex problems
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Normal cone condition
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Normal cone condition
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Today’s lecture
[Chapter 1 and 2, Lectures on Convex Optimization, Nesterov] 

[Chapter 9, Convex Optimization, Boyd and Vandenberghe] 

[Chapter 5, First-Order Methods in Optimization, Beck]

Gradient descent algorithms 

• Optimization algorithms and convergence rates


• Gradient descent


• Fixed step size: 


• quadratic functions, smooth and strongly convex, only smooth


• Line search: can we adapt the step size?


• Issues with gradient descent
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Optimization algorithms and 
convergence rates



Iterative solution idea
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Convergence rates
Rank methods by how fast they converge
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Convergence rates types
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Convergence rates
Number of iterations
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Convergence rates
Examples
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Optimization methods overview
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(our focus)

Optimization methods overview
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Iterative descent algorithms



Problem setup
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General descent scheme
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Iterations
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Gradient descent
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Interpretation: steepest descent (Cauchy-Schwarz)
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Quadratic function interpretation
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Fixed step size
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It converges in 149 iterations

<latexit sha1_base64="mKJSrrho10WDxq+AQtFA/O89pwc="></latexit>

t = 0.05

How do we find the best one?
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Study behavior of
<latexit sha1_base64="cIrcQ3yHdAI7gXmETUI3C09olr4="></latexit>

xk+1 = xk
− t∇f(xk)

<latexit sha1_base64="YtByDl0yiqwBmQe8XE3Z7HS8jnw="></latexit>

f(x) =
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2
(x− x⋆)TP (x− x⋆)
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∇f(x) = P (x− x⋆)
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<latexit sha1_base64="0WxrZyFtAIJW7xTH3lNSn2vYVvo="></latexit>

tk = t =
2

λmin(P ) + λmax(P )

<latexit sha1_base64="QgSlB+ipIZGgIqh0DIWGKdNgfZQ="></latexit>

‖xk − x
⋆‖2 ≤

(

cond(P )− 1

cond(P ) + 1

)k

‖x0 − x
⋆‖2
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O(log(1/✏))

P cond(P ) =
�max(P )

�min(P )
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xk+1
− x⋆ = xk

− x⋆
− t∇f(xk) = (I − tP )(xk

− x⋆)

Rewrite iterations using 
<latexit sha1_base64="A4onPPqm9g+XCkIP9+LDmpwv0ZQ="></latexit>

∇f(xk) = P (xk
− x⋆)

<latexit sha1_base64="IS3Ch6H8z5njhakHlymiyQyVaZ8="></latexit>

kxk+1 � x
?k2  kI � tPk2kx

k � x
?k2
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⑧
Bo

-
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t = 2/(1 + 20) = 0.0952

Optimal fixed step size
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tk = t k = 0, 1, . . .
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f(x) = (x2

1
+ 20x2

2
)/2

<latexit sha1_base64="Wnf835Vrg1v4dAiHLJ6bQrl8s3U="></latexit>

x
0 = (20, 1)

Optimal step size

It converges in 80 iterations



When does it converge?
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Contraction factorIterations
<latexit sha1_base64="V0zriT+Aog3hHAu44KJK4r7DYZA="></latexit>

‖xk − x
⋆‖2 ≤ c

k‖x0 − x
⋆‖2

<latexit sha1_base64="ohz7WjHbSY45reuY50ZltqZ4q10="></latexit>

c = kI � tPk2 = max{|1� tλmax(P )|, |1� tλmin(P )|}

<latexit sha1_base64="P40SKW4jWqAN7kFUkMYBHrOER9M="></latexit>

t < 2/λmax(P ) c < 1
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Strongly convex and smooth 
problems
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f L
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f(y) ≤ f(x) +∇f(x)T (y − x) +
L

2
‖x− y‖2

2
, ∀x, y
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<latexit sha1_base64="ii4t8BscbL0VhIpafFhrRR+YGcQ="></latexit>

‖∇f(x)−∇f(y)‖2 ≤ L‖x− y‖2, ∀x, y

First-order characterization

<latexit sha1_base64="75tBg0VRJhf+30uqaJ9r+0bdE/Q="></latexit>

(∇f(x)−∇f(y))T (x− y) ≥
1

L
‖∇f(x)−∇f(y)‖2

2
, ∀x, y

(strongly monotone gradient)

(co-coercive gradient)
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<latexit sha1_base64="ii4t8BscbL0VhIpafFhrRR+YGcQ="></latexit>
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(∇f(x)−∇f(y))T (x− y) ≥ 0, ∀x, y

the gradient Is a monotone mapping

<latexit sha1_base64="5IrahRo+Pj02y+dLn+oYsKJzmz4="></latexit>

⇒

<latexit sha1_base64="Vj1OOL67MD9SNNn8bXckAwzPF9w="></latexit>

f(y) � f(x) +rf(x)T (y � x) f(x) � f(y) +rf(y)T (x� y)

*¥
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2
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2
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f µ L
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<latexit sha1_base64="UqzSp3GB/LKc93yzo5ZpPv6dnRM="></latexit>

f(y)

<latexit sha1_base64="0z2Yy3zsO7dwSQtMGdJTKhxkN+0="></latexit>
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2
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2

<latexit sha1_base64="ZQYx11qfXSi28X4Y+HcIsdS2WBM="></latexit>
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L

2
‖x− y‖2

2
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(x, f(x))



Useful fact
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(∇f(x)−∇f(y))T (x− y) ≥
µL

µ+ L
‖x− y‖2

2
+

1

µ+ L
‖∇f(x)−∇f(y)‖2

2

<latexit sha1_base64="XPOrKTqbO2UPv3BGYL7E4Sb8crA="></latexit>

x, y

Fact
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x, y

Fact

Proof
<latexit sha1_base64="gHRo9jRaCldKzwvQpr2ehZbfAnY="></latexit>

h(x) = f(x)�
µ

2
kxk2

2
=) h(x) (L�m)�

=) rh
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f µ L t =
2

µ+ L
<latexit sha1_base64="aJ8B1WdYi1rRYkyQsV6eiQAaxS8="></latexit>

‖xk − x
⋆‖2 ≤

(

κ− 1

κ+ 1

)k

‖x0 − x
⋆‖2

<latexit sha1_base64="veyim95bfQPLfU0qYracK7DvG2U="></latexit>

κ = L/µ
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Remarks
<latexit sha1_base64="FdMCROVGSAM8VgXAmUiRuqOmA/c="></latexit>

O(log(1/✏))

t = 2/(�max(P ) + �min(P )) cond(P ) 

 n
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<latexit sha1_base64="8MTBBHhtCGeryLbsWKGecwxVS6E="></latexit>

xk+1 = xk
� trf(x?)

<latexit sha1_base64="+P3u4bi9cjbzWeqztqjDaV0oZac="></latexit>

kxk+1 � x?k22 = kxk � trf(xk)� x?k22

= kxk � x?k22 � 2trf(x)T (xk � x?) + t2krf(xk)k22
✓ ◆ ✓ ◆



Strongly convex and smooth convergence
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Proof
<latexit sha1_base64="8MTBBHhtCGeryLbsWKGecwxVS6E="></latexit>

xk+1 = xk
� trf(x?)

<latexit sha1_base64="+P3u4bi9cjbzWeqztqjDaV0oZac="></latexit>

kxk+1 � x?k22 = kxk � trf(xk)� x?k22

= kxk � x?k22 � 2trf(x)T (xk � x?) + t2krf(xk)k22
✓ ◆ ✓ ◆

<latexit sha1_base64="rC402N/VDnMhOB4fjwnzU1wq0qA="></latexit>

rf(x?) = 0

<latexit sha1_base64="+P3u4bi9cjbzWeqztqjDaV0oZac="></latexit>

k � k � r � kr k



✓

1� t
2µL

µ+ L

◆

kxk � x?k22 + t

✓

t�
2

µ+ L

◆

krf(xk)k22



✓

1� t
2µL

µ+ L

◆

kxk � x?k22

-

cx•
, it



Strongly convex and smooth convergence

41

Proof (continued)

Inequality
<latexit sha1_base64="buaUI9EKSXHwvcga4dZ8H7Vxr0g="></latexit>

c =

✓

1− t
2µL

µ+ L

◆

<latexit sha1_base64="V+2j9EO+u53lxy67BKwsXKUd3AI="></latexit>

‖xk − x
⋆‖2 ≤ c‖xk − x

⋆‖2



Strongly convex and smooth convergence
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Proof (continued)

Inequality
<latexit sha1_base64="buaUI9EKSXHwvcga4dZ8H7Vxr0g="></latexit>

c =

✓

1− t
2µL

µ+ L

◆

Optimal step size
<latexit sha1_base64="RIKxZ9TqsQyKLlDX192oLx88YeM="></latexit>

t =
2

µ+ L

Optimal contraction factor
<latexit sha1_base64="R4i9TUTvITCYtILDnbed7zKeBRI="></latexit>

c =
κ− 1

κ+ 1

<latexit sha1_base64="V+2j9EO+u53lxy67BKwsXKUd3AI="></latexit>

‖xk − x
⋆‖2 ≤ c‖xk − x

⋆‖2
fl



Strongly convex and smooth convergence

41

Proof (continued)

<latexit sha1_base64="5YXuyyFWpiKJCe8VuunhSDFIW3M="></latexit>

Inequality
<latexit sha1_base64="buaUI9EKSXHwvcga4dZ8H7Vxr0g="></latexit>

c =

✓

1− t
2µL

µ+ L

◆

Optimal step size
<latexit sha1_base64="RIKxZ9TqsQyKLlDX192oLx88YeM="></latexit>

t =
2

µ+ L

Optimal contraction factor
<latexit sha1_base64="R4i9TUTvITCYtILDnbed7zKeBRI="></latexit>

c =
κ− 1

κ+ 1

<latexit sha1_base64="V+2j9EO+u53lxy67BKwsXKUd3AI="></latexit>

‖xk − x
⋆‖2 ≤ c‖xk − x

⋆‖2
-1M



Dropping strong convexity



Many functions are not strongly convex

43

<latexit sha1_base64="pUznwxbCLVn5noEGp/tCfe0n2Z4="></latexit>

f(x) = 1/x

<latexit sha1_base64="FE9IljexM14XwAgBh8qQkaIr2GE="></latexit>

x

<latexit sha1_base64="PZDncmuRQLl6zpYhcFuUPyIUQww="></latexit>

x
?
= ∞



Many functions are not strongly convex
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<latexit sha1_base64="pUznwxbCLVn5noEGp/tCfe0n2Z4="></latexit>

f(x) = 1/x

<latexit sha1_base64="FE9IljexM14XwAgBh8qQkaIr2GE="></latexit>

x

<latexit sha1_base64="XrVPrk7l/ubK0+gVellzvG92Y0A="></latexit>

f(xk)� f(x?) kxk � x?k2

<latexit sha1_base64="PZDncmuRQLl6zpYhcFuUPyIUQww="></latexit>

x
?
= ∞



Null growth directions without strong convexity

44

<latexit sha1_base64="NYkfU1CAmAGLwJudhWKPf7Lz3D0="></latexit>

r
2f(x) 0



Null growth directions without strong convexity
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<latexit sha1_base64="fFT00V20hbWmbw7HNiFp4PV6qu4="></latexit>

xk+1 =
y

f(xk) +∇f(xk)T (y − xk) +
1

2tk
‖y − xk‖22

<latexit sha1_base64="TNNp1twYvqP34uD5K+zc6+q92lg="></latexit>

x
k

<latexit sha1_base64="s6UiRNNaP074XfldUGhfj3vWATo="></latexit>

x
k+1

<latexit sha1_base64="8ZHTLpLRpSUEZS7MKh+SeAD9u24="></latexit>

f(xk)

<latexit sha1_base64="7CqLsPCszR6wOsW6LLmbokQgZD0="></latexit>

f(xk+1)

<latexit sha1_base64="CR5im9xudP+blrVh4LzAKGGo63Q="></latexit>

r
2f(xk)

1

tk
I

<latexit sha1_base64="NYkfU1CAmAGLwJudhWKPf7Lz3D0="></latexit>

r
2f(x) 0



Null growth directions without strong convexity

44

<latexit sha1_base64="fFT00V20hbWmbw7HNiFp4PV6qu4="></latexit>

xk+1 =
y

f(xk) +∇f(xk)T (y − xk) +
1

2tk
‖y − xk‖22

<latexit sha1_base64="TNNp1twYvqP34uD5K+zc6+q92lg="></latexit>

x
k

<latexit sha1_base64="s6UiRNNaP074XfldUGhfj3vWATo="></latexit>

x
k+1

<latexit sha1_base64="8ZHTLpLRpSUEZS7MKh+SeAD9u24="></latexit>

f(xk)

<latexit sha1_base64="7CqLsPCszR6wOsW6LLmbokQgZD0="></latexit>

f(xk+1)

<latexit sha1_base64="CR5im9xudP+blrVh4LzAKGGo63Q="></latexit>

r
2f(xk)

1

tk
I

<latexit sha1_base64="txcO6C7lkpXC3MC9RQXQ9Z7tREI="></latexit>

<latexit sha1_base64="5moCsliOxkYiWOMH8aRxqxZffMQ="></latexit>

L

<latexit sha1_base64="NYkfU1CAmAGLwJudhWKPf7Lz3D0="></latexit>

r
2f(x) 0



Convergence for smooth functions

45

Theorem
<latexit sha1_base64="jqmvVBMMQqf1nQ2AEksY2FHtTtg="></latexit>

f L t < 1/L

<latexit sha1_base64="DbhaxdL5NyQrwaYtzSyFHoZFA6M="></latexit>

f(xk)− f(x⋆) ≤
‖x0 − x⋆‖2

2

2tk

<latexit sha1_base64="HFBGUIiGnC3BhcONvkPvGTNvETA="></latexit>

O(1/✏)



Convergence for smooth functions
Proof

46

<latexit sha1_base64="ktGoyduQA3we9ZjZQucVpcRFwu4="></latexit>

L
<latexit sha1_base64="3lZenOyTefCRKrQrOyxkljxphbg="></latexit>

f(xk+1) ≤ f(xk) +∇f(xk)T (xk+1 − xk) +
L

2
‖xk − xk+1‖22



Convergence for smooth functions
Proof

46

<latexit sha1_base64="ktGoyduQA3we9ZjZQucVpcRFwu4="></latexit>

L
<latexit sha1_base64="3lZenOyTefCRKrQrOyxkljxphbg="></latexit>

f(xk+1) ≤ f(xk) +∇f(xk)T (xk+1 − xk) +
L

2
‖xk − xk+1‖22

<latexit sha1_base64="ot/eM993GRTX19MvWjmFTCcpkt8="></latexit>

f(xk+1) ≤ f(xk)−

(

1−
Lt

2

)

t‖∇f(xk)‖22

<latexit sha1_base64="qcPv8moyIKPwcjtB7CPBxDE5FiI="></latexit>

xk+1 = xk
� trf(xk)



Convergence for smooth functions
Proof

46

<latexit sha1_base64="ktGoyduQA3we9ZjZQucVpcRFwu4="></latexit>

L
<latexit sha1_base64="3lZenOyTefCRKrQrOyxkljxphbg="></latexit>

f(xk+1) ≤ f(xk) +∇f(xk)T (xk+1 − xk) +
L

2
‖xk − xk+1‖22

<latexit sha1_base64="ot/eM993GRTX19MvWjmFTCcpkt8="></latexit>

f(xk+1) ≤ f(xk)−

(

1−
Lt

2

)

t‖∇f(xk)‖22

<latexit sha1_base64="qcPv8moyIKPwcjtB7CPBxDE5FiI="></latexit>

xk+1 = xk
� trf(xk)

<latexit sha1_base64="P2V9QihEssgDrsmt91koiagSGY8="></latexit>

0 < t ≤ 1/L
<latexit sha1_base64="L/ae+m20ngvZZNTcURtsBDnEWWw="></latexit>

f(xk+1) ≤ f(xk)−
t

2
‖∇f(xk)‖22 (non increasing cost)

- •

was
A



Convergence for smooth functions
Proof (continued)

47

<latexit sha1_base64="dCtngyzYia8qn3jj8zp/2B6AfXc="></latexit>

f f(xk)  f(x?) +rf(xk)T (xk � x?)



Convergence for smooth functions
Proof (continued)

47

<latexit sha1_base64="dCtngyzYia8qn3jj8zp/2B6AfXc="></latexit>

f f(xk)  f(x?) +rf(xk)T (xk � x?)
<latexit sha1_base64="wadP2cnork2lzQrdajCaMlXy3vQ="></latexit>

f(xk+1)  f(xk)�
t

2
krf(xk)k22

<latexit sha1_base64="RThK8pgL+CRMf8dbe2V+CQWVG2s="></latexit>

f(xk+1)� f(x?)  rf(xk)T (xk � x?)�
t

2
krf(xk)k22

=
1

2t

�

kxk � x?k22 � kxk � x? � trf(xk)k22
�

=
1

2t

�

kxk � x?k22 � kxk+1 � x?k22
�



Convergence for smooth functions
Proof (continued)

48

<latexit sha1_base64="8OgDlJnAyv1wHHwqGcLeyD0BcSg="></latexit>

i = 1, . . . , k
<latexit sha1_base64="aIoB0bY7EmyYqtYMMWKe0e+8gSk="></latexit>

k
X

i=1

�

f(xi)� f(x?)
�


1

2t

k
X

i=1

�

kxi−1 � x?k2
2
� kxi � x?k2

2

�

=
1

2t

�

kx0 � x?k2
2
� kxk � x?k2

2

�


1

2t
kx0 � x?k2

2

-



Convergence for smooth functions
Proof (continued)

48

<latexit sha1_base64="8OgDlJnAyv1wHHwqGcLeyD0BcSg="></latexit>

i = 1, . . . , k
<latexit sha1_base64="aIoB0bY7EmyYqtYMMWKe0e+8gSk="></latexit>

k
X

i=1

�

f(xi)� f(x?)
�


1

2t

k
X

i=1

�

kxi−1 � x?k2
2
� kxi � x?k2

2

�

=
1

2t

�

kx0 � x?k2
2
� kxk � x?k2

2

�


1

2t
kx0 � x?k2

2

<latexit sha1_base64="gEXbAh6O9VWNE3fvjOqy3KR2BDU="></latexit>

f(xk)
<latexit sha1_base64="GwMkcw5tpCUyf/GMLC791KsTdWU="></latexit>

f(xk)− f(x⋆) ≤
1

k

k∑

i=1

(f(xi)− f(x⋆)) ≤
1

2kt
‖x0 − x⋆‖2

2Et
.

-

-



Issues with computing the optimal step size

49

<latexit sha1_base64="KslkTKN7KbcpTM8cMF0FXDfhXzs="></latexit>

t = 2/(λmax(P ) + λmin(P ))

[Lecture 24, 25, Numerical Linear Algebra, Trefethen and Bau]

<latexit sha1_base64="lPyVctzvqYqSX+yYzkundIy+vLA="></latexit>

P

Quadratic programs
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<latexit sha1_base64="KslkTKN7KbcpTM8cMF0FXDfhXzs="></latexit>

t = 2/(λmax(P ) + λmin(P ))

[Lecture 24, 25, Numerical Linear Algebra, Trefethen and Bau]

<latexit sha1_base64="lPyVctzvqYqSX+yYzkundIy+vLA="></latexit>

P

Quadratic programs

Smooth and strongly convex functons
<latexit sha1_base64="39m5kJtjlBL6c23oJ7gsiNnj8EU="></latexit>

µ L



Issues with computing the optimal step size

49

Can we select a good step-size as we go?

<latexit sha1_base64="KslkTKN7KbcpTM8cMF0FXDfhXzs="></latexit>

t = 2/(λmax(P ) + λmin(P ))

[Lecture 24, 25, Numerical Linear Algebra, Trefethen and Bau]

<latexit sha1_base64="lPyVctzvqYqSX+yYzkundIy+vLA="></latexit>

P

Quadratic programs

Smooth and strongly convex functons
<latexit sha1_base64="39m5kJtjlBL6c23oJ7gsiNnj8EU="></latexit>

µ L



Line search



Exact line search

51

Choose the best step along the descent direction
<latexit sha1_base64="9/mXahSJUpQnzzvQqf/poLE9Fbw="></latexit>

tk = argmax
t≥0

f(xk
− t∇f(xk))

Used when 

• computational cost very low or


• there exist closed-form solutions

In general, impractical to perform exactly

Win



Backtracking line search
Condition

52

<latexit sha1_base64="6sL3b6vjhiDsMvqVsVUx63/FBfs="></latexit>

0 ≤ α ≤ 1

<latexit sha1_base64="ujlFU2xa/lIH32xu0DfDY+RRmnM="></latexit>

f(xk − t∇f(xk)) < f(xk)− αt‖∇f(xk)‖2
2

Guarantees  
sufficient decrease  

in objective value

<latexit sha1_base64="BcyZgKeoheijdYL16PhhlHw3Lnw="></latexit>

t

<latexit sha1_base64="RbWYb9I0BUHuOAXxc9+ig4ZWJsk="></latexit>

f(xk
− t∇f(xk))

<latexit sha1_base64="NgF6y2+mSOcpCuntfs8VlZichQY="></latexit>

0

<latexit sha1_base64="wrLYYv3693L5rGMKzwSEkKVKsyk="></latexit>

f(xk)− t‖∇f(xk)‖2
2

<latexit sha1_base64="CPpswKRxLCtpQ2mvVhp0mbYPhPg="></latexit>

f(xk)− αt‖∇f(xk)‖2
2

admissible

I
0=1



Backtracking line search
Iterations

53

<latexit sha1_base64="BcyZgKeoheijdYL16PhhlHw3Lnw="></latexit>

t

<latexit sha1_base64="RbWYb9I0BUHuOAXxc9+ig4ZWJsk="></latexit>

f(xk
− t∇f(xk))

<latexit sha1_base64="NgF6y2+mSOcpCuntfs8VlZichQY="></latexit>

0

<latexit sha1_base64="wrLYYv3693L5rGMKzwSEkKVKsyk="></latexit>

f(xk)− t‖∇f(xk)‖2
2

<latexit sha1_base64="CPpswKRxLCtpQ2mvVhp0mbYPhPg="></latexit>

f(xk)− αt‖∇f(xk)‖2
2

admissible

<latexit sha1_base64="LV8bQQXbXwZuP+JRIgfzYvVMKts="></latexit>

f(xk � trf(xk)) > f(xk)� αtkrf(xk)k2
2

t βt

<latexit sha1_base64="K+jzjofLRZMFhBEYSlRYYGtJ+lY="></latexit>

t = 1, 0 < α ≤ 1/2, 0 < β < 1

-qHEFGM.# -

-

-

=-

Hq



Backtracking line search

54

<latexit sha1_base64="zJCc/BE93wDxxiZ6zGURufd90cg="></latexit>

f(x) = (x2

1
+ 20x2

2
)/2

<latexit sha1_base64="Wnf835Vrg1v4dAiHLJ6bQrl8s3U="></latexit>

x
0 = (20, 1)

Backtracking line search

Converges in 31 iterations



Backtracking line search convergence

55

Theorem

<latexit sha1_base64="O+SFO0QtUoDp2nLqwsyH4L2BGy0="></latexit>

f(xk)− f(x⋆) ≤
‖x0 − x⋆‖2

2

2tmink

<latexit sha1_base64="U0RqcRzIvt7Gu9SIsMpQvb8lpc4="></latexit>

f L t < 1/L

<latexit sha1_base64="F/episHYR3CoMzLBk4SrNZfnjuM="></latexit>

tmin = min{1,β/L}

Proof almost identical to fixed step case



Backtracking line search convergence

55

Theorem

<latexit sha1_base64="O+SFO0QtUoDp2nLqwsyH4L2BGy0="></latexit>

f(xk)− f(x⋆) ≤
‖x0 − x⋆‖2

2

2tmink

<latexit sha1_base64="U0RqcRzIvt7Gu9SIsMpQvb8lpc4="></latexit>

f L t < 1/L

<latexit sha1_base64="F/episHYR3CoMzLBk4SrNZfnjuM="></latexit>

tmin = min{1,β/L}

<latexit sha1_base64="rr8+4Yk7hy8WJ37AkZv7elN5Ve8="></latexit>

� ≈ 1 �/L 1/L
O(1/✏)

Remarks

Proof almost identical to fixed step case



Gradient descent issues



Slow convergence
Very dependent on scaling

57

<latexit sha1_base64="zJCc/BE93wDxxiZ6zGURufd90cg="></latexit>

f(x) = (x2

1
+ 20x2

2
)/2

Slow convergence Faster

<latexit sha1_base64="q3ooUeUBZZjr4f2++yZGr3iv4Ow="></latexit>

f(x) = (x2

1
+ 2x2

2
)/2



Non-differentiability
Wolfe’s example

58

<latexit sha1_base64="DWnWyZAs0bOu5zIMp3P/j1lsphE="></latexit>

f(x) =











√

x2

1
+ γx2

2
|x2| ≤ x1

x1 + γ|x2|√
1 + γ

|x2| > x1

<latexit sha1_base64="cr1LwAjS+NcC670+jvEF5rtfcN8="></latexit>

x = (0, 0)
−2 0 2 4

−2

0

2

F-



Non-differentiability
Wolfe’s example

58

In general: gradient descent cannot handle non-differentiable 
functions and constraints

<latexit sha1_base64="DWnWyZAs0bOu5zIMp3P/j1lsphE="></latexit>

f(x) =











√

x2

1
+ γx2

2
|x2| ≤ x1

x1 + γ|x2|√
1 + γ

|x2| > x1

<latexit sha1_base64="cr1LwAjS+NcC670+jvEF5rtfcN8="></latexit>

x = (0, 0)
−2 0 2 4

−2

0

2

I#



Gradient descent

Today, we learned to:


• Classify optimization algorithms (zero, first, second-order)


• Derive and recognize convergence rates


• Analyze gradient descent complexity under smoothness and strong convexity  
(linear convergence, fast!)


• Analyze gradient descent complexity under only smoothness  
(sublinear convergence, slow!)


• Apply line search to get better step size


• Understand issues of Gradient descent

59



Next lecture

• Subgradient methods

60


